~&B

X%+ 6x + 3k =0 o] AZE 7HA A
D=36-12k>0

36 > 12k

L3>k




‘ ab-a-b+1=ab-1)-(b-1)=({b-1)(a-1)
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D (x-3)2%=0 @ x*-4=0
® x*+6x+9=0 @ (2x-1)2=16
@) (x+6)(x-6)=9

Dx=3
@ x==+2
®x=-3

5 3
Or=3"3
@xzi?)\/g




5. TR oA F ol A4t e shik

D 2+ 12x+36 =0 @ = 10x-25
@)9- x> =4(x+3) @ (x+1)(x-1) =2x-2
® x®=4x-4

B

ol Al0] F2& ZAA R (ax + b)* = 02] Eo] Hojof

St
@ (x+6)2=0
@ (x-5)2=0

®9-x*=4(x+3) o x2+4x+3=0
@Dx’-1=2x-26x>-2x+1=06 (x-1)2=0

®((x-2)2=0




6. (x-4)(x-2)(x+1)(x+3)-25=Ax*+ B3+ Cx* + Dx+ E¥
™, A+ B+ C+ D+ E°| gh& F5tH?

®-2 @-1 ©o0 @ 1 ® 2

B ~
(x=4)(x=2)(x+1)(x+3)-25
={(x-)(x+3)HHE-2)(x+1)} - 25

=(x*-x-12)(x*-x-2)-25

x?—x =12 x|¥sto] AElotH (1-12)(1—-2)—-25 = 1> - 14r-1
¥ —x=tE NYHH x* = 2x3 + ¥ - 14x2 + 14x -1 = x* -
2x% - 13x2 + 14x - 1
G2t A+ B+C+D+E=1-2-13+14-1=-1°|th




7o xty =5 (x+2)0+2) = 12 W, & +xy+y? o] GE Fotefet

> E.

> ®™e: 7

B ~
x+y=-5
(x+2)(y+2) =12
xy+2(x+y)+4=12
xy—10+4 =12, xy=18
Ptxy+yi=(x+y)?2-xy=25-18-7




